Hﬂ%
ao
i

THISHEE EXH S

H SfMm544H1H
H Sf643H31H

(1) TREEFERE
AATH~SH6HE3HA31H &35 R AR E fE it

(2) ZBT5EITHRAFSR
IHIH~HH6HE3A3IH &35 R AR E iRt

(3) IR AET RS FERS KB - BFOIRE

(4) HITERAT RS EERE IV T7HES BFOIRE

(5) HITEHIRAEBT RS AFRE AX—Hiis BFOJKE

(6) ZFE55[EIFURAS TR AR B IR B RS (8 27 rn v )

(7) DFASEEMRAEFEAR—Y KE BEOJRE

(8) FIBEELRARL 7 SV AE BTFEOIRIE

(9) B 5 FEARMEFERES BFOIRE

(10) H36RTHRAR—Y 7 =27 4L 10H9H HRAEKEEE

(11) AR —> 55 BHE 2 (R = 18)
FIEHES 10A16H =% RAEKEEE N L —=0 7=

T [ hNo—=v U=y rvaffiolcikoars 4 a=r )
FRIfFES 2H10H 23 RAEKRBEIEERSHRE
AR—=VIFEERERE 2 HES & LTk

(12) AR =V E BRAGHEE & - FEHAHES ORI/ SHIR8H 3
FiE, AlE, FHER, Kuk, TVOrHRER 7oA, BINKER%E, vt

(13) AR—VIREEREHE S
2H108 &% REKREBIHEASES

(14) BEEL A L33 (s B S 2 )
EREPER, FaE, A%, 89fa, LR, AR A, Mo e -, TBG
HEHSHENES 9H15H

(15) BRER Y = = 7 H R I 2 3
OVa=7Y7 " TF=A#3E 8H5H
QOREHTHY 2 =7 b —R—Lr 77 4H8H~2H29H
@V = BRFICL DV 2=T RN —R—L#H= 127100, 2H3H
@+ E b FRERBE=E 4H1H~3H30H
@FMENXAE S Fal#=E 11H12H
ORI T ETFERF=E  1H14H
OREH L N> ZRhERE 2A18H

B

5, 58844

6, 13744
115 1884
itk 44
Uitk 9%
115584 16544
1255i4% 15644
2%tk 384
2wtk 4044
1, 3054

584,

1344

2434

234

2144,
324

694
494,
23844
1044
11044
2174,
9944

MM LoD EFHEE(FLtEy) [y b—] 10H228~2H24H

OQOREE TV v h—2ZFAkE 11H3, 4H

9644
14144



Ok+Y% >y h—H~—Fy>7 TH31H~8H3H
OFILFE - WIE AT —%= 12H10H
@R - BB AT —FHE 2H4A

(16) HUHR S =7 AR — VR IH =3
DOv=7rV7 " Tr=RAiE%s 5H206H~2HI18H
Qv =T R 7= 9HIH
@Y7 rA—nNRJEE A >~ 9H10, 17H. 10H8H
@D =T NN L —R—=)LAZFHNRE 10H28H

(A7) TEe& LoEH) &7

955 9HIGH X7 oA RRR4AX—
9675 3HISGH X7 oA Rk2~_—

OHFEBA R = D57

ZER H - (GUEPERHE)
D) ¢ LN e 7

BEAR—=YY)g5#  +H E

AJEAR—YERMHE N —R—LEH

OH AR AT 2 E A 2R

KEDGE WL SRS (T U R

@RI AT R

Sitg %L (BEEBHmR)
ggu BREL (GeEEE)
g e (@L@ i)

Bt (XF—Ei)
BY JtE <mm@ H)
MR B (LEEE)
NS IN
I OET
Jar s 47

(T —F v 7HE)
(K Pk )

(19) a#F ORI (BAfEA/ H)

(N2 hAR— L)

(7= x#H)
HAEAR—VERAK FyFe—WHa

)

O J=ES 28] (5/9,10/13)

@ ER 48] (4/25,9/21,1/9, 2/27)
QO THES 48] (4/18,9/13,12/19, 2/19)
O)S & 3=E 4[8] (6/19, 8/18,1/9, 2/22)
OAR—=VIFERES 28] (6/12,3/7)
OFREFEALZES 117 (9/13)
ODEERELZES 1= (3/19)

(DE36[a] 1T FAR =7 2A7 4N VEITEREBE S

3[=]

(7/31,9/5, 11/17)

8544
4444
434

3144
2744
13544
10844

88, 000%h
58, 0003



